MaterialsTeleComm

©1991-03 Quick Frame, Inc

Quick Frame™

Materials List

Job Name Mr. & Mrs. Luis Gonzales Plan Main Tax Mix

Location Elevation House | | 1

Developer Date 3/21/2005 Sub Total

Company Quick Frame Estimating Total Price

Notes Description Quan Mix Quan  Unit Price Price
_____________________________ 1/8x1/2 Mobile Seal 28 RIBx__ | 1 | 1 | ...
_____________________________ Simpson BP5/8 ~ Bearing Plate 570 570
_____________________________ 50# 8d __Vinyl Coat Sinker | 2 ) .2 | ...
_____________________________ 50# 16d _Vinyl Goat Sinker | 4 | 4 .
_____________________________ 50# Box_16d EGBoxNail | 1 1 1 .
_____________________________ 50# Box_10d_GommonNail . {1 1 1 & .
_____________________________ 50# 8d 131 x1-1/2" Hand Nail | 1 | 1 | .
_____________________________ 16d Short 3-1/4"x 131 GunNail | 24 | 24 | | .
_____________________________ 10d Com 2-1/4"x 148 GunNail __ | 16 | 16 | | ...
_____________________________ 10d Screw2-3/8"x.148GunNail __ | 4 | 4 | |
_____________________________ Subfloor Const. Adh. -290z. | 108 | 108 | [ ...
_____________________________ Simpson BP3/4 _Bearing Plate | ~ 30 30 |\ .. |...........
_____________________________ Simpson BP7/8 _Bearing Plate | 45 | 45 | .|
_____________________________ SimpsonBP 1 BearingPlate | 8 | 8 _ | .|
_____________________________ 5/8" CutWasher . |...580 ) 580 | ...
_____________________________ Simpson HD2A _ Holdown [ 43 | 43 | .|
_____________________________ Simpson HD5A Holdown """ "[ ""14 |~ 14 [~
_____________________________ Simpson HD6A __Holdown "~ "[ "2 |~~~ 2 "1 1
_____________________________ Simpson HD8A Holdown ~~~~"[ " "3% | i [
_____________________________ Simpson HD10A Holdown | 2 | .2 | ___.._.__._.|.... '
e Simpson HD14A_Holdown [ "’ 2 . ]... 2
_____________________________ Zone:4 84-6 |20 A0 .
_____________________________ 58" HexNut_ . .|...580 ] _.580 | ..
_____________________________ 4" HexNut .80 30 .
_____________________________ 7/8" HexNut_ A A .
_____________________________ 1o HexNut 88
_____________________________ Simpson CNW S8 |10 1 10 .
_____________________________ 5/8"x 24" AllThreadRod | 10 | 10 | ...
_____________________________ 5/8"x 5 1/2" HexBolt __ _ _ |...9 1 .96 | .
_____________________________ S8 x 11 HexBolt .. 6 8 .
_____________________________ 58" x 8" . HexBolt __ __{...50 190 .
_____________________________ 58" x 9" _HexBolt {42 )42 .
_____________________________ 58" x 12" HexBolt 1 .8 |8 .
_____________________________ J/4"x51/2" HexBolt  _ _ |...28 | _..28 | ..
_____________________________ Ja'x71/2 HexBolt .2 2.
_____________________________ 7/8" x5 HexBolt {45 A .
_____________________________ rx7 . HexBolt 8 8
_____________________________ Simpson A35 . _._.|...1000 ) 1000 ...
_____________________________ Simpson CMST14  52-1/2' Rq 10 | 10 | ... ...
_____________________________ Simpson _PG44-16 | A A .
_____________________________ Simpson _PCe4-16 | A A .
_____________________________ Simpson HU414 ... 2 2.
_____________________________ Simpson SUL210-2Skewd4Sded 8 | .8 | ...
_____________________________ Simpson SUR412 Skew4Sdeg 1 | 1 | ..
_____________________________ Simpson ITT3514 . _.__|...400_ ) 400 | ..
_____________________________ Simpson IJTH1 .22 .
_____________________________ Simpson HWUS.50/14 {1 .
_____________________________ Simpson HWU3.56/14 |22 ) _..22 | ..
Simpson HGLTV414-2 1 1

Page 1 of 2




_____________________________ Simpson LUS26 _ ____l...125 o125 e

_____________________________ Simpson SDS 1/4x3" |8 .8

_____________________________ 25 Yr. White Latex Gaulking 1104 60 | 680 _{ | ...
12" Moistop Flashing 12" x 300" 3 3

Page 2 of 2



	Hardware List

